10

29

528 A&X

1 ZAES Z203 F250] fo S Z 8 FHuUCL

0 22HE5(5) 40%
qE(4) 40%
= Oj$EEEF(3) HE(3) 20%
m PtE(4)
m 2E(3) 29H2) 0%
® E0H2)
u OjEE8H1) o E0H1) 0%
2. ZAHE FHoE A|IZIS & X7| 0, 2o|E ZIX| N x2S 2AHsML )
0j 815(5) 40%
OrE(4) 50%
= Oj RHH(5) HE@R) 10%
| PH&(4)
5 25(3) 20H2) 0%
m Z8H2)
m O E28H1) HFE2H) 0%
3. ZAHE o208 2HA| HEHo|L 214 S R55H= HO|E ALRSIX] RopLch
O L0HE(5) 60%
OHEE(4) 20%

2=0)

=)

20%



o D REEEF(S)
m 2E(4)
5 HE(3)
= 22H2)
u DjERH1)

4. 0] mz 0] Xifo] Megtao] £20] HYFLct

0f $-E2K1)

0%
0%

O 2-2Z(5) 30%
tx(4) 50%
u O SrR(5) HE(3) 20%
m ghR(4)
= =22(3) H0H2) 0%
B 28H2)
= 0 RE7H1) of = K1) 0%
sHag 42X
1. x2d 29 ARIEE & X7IdsUN.
O L 2=H(5) 40%
Zg) 60%
m Of S2+(5) HE(3I) 0%
B gHE(4)
"REE) 29H2) 0%
m 2PH2)
w O EeH1) o E2H1) 0%




2. 482 ux o Hzs o 2850 =80 HASUO

0 2HH(5) 40%
2=(4) 50%
u O RHE(5) BE(3) 10%
m RHE{4)
= E8H2)
= O REH(1) of 22 0K1) 0%
3. Z2PE 299517] i FHl= 2 HAsUO
oj-72H=5(5) 40%
AF(4) 50%
u D 2HH(5) HE(3) i
u PHE(4)
= HE(3) £29H2) 0%
= E8H2)
u D REEH(1) Ojj 5 2H(1) 0%
4. Z2Ao| Y23 222 HASASLCH
o 9EE(5) 40%
5 50%
u gHE(4)
"2303) £8H2) 0%
u §8H(2)
u o 2EeH1) o -5 2H1) 0%
5. ZAHE =233 82 ol8st7| A 2YsasUch
0 -HF(5) 40%
U=(4) 50%
HE(3) 10%



BOH2) 0%
022 0H1) 0%
" = OjRRHE(S)
m ghE(4)
= 2E(3)
m Z0H2)
= OjREPH1)
6. ZAH2 =233 29 Fo] 8y HE o] UL
0 £PHF(5) 30%
2HE(4) 60%
=HSEEE) | ugg 10%
u BHE(4)
=533 Loi2) 0%
m E0H2)
= D) 2E20H1) oj 2-=9H1) 0%
7. 22 30| d= o] =50] HYUSUC
0] 20HE(5) 40%
oLE(4) 50%
“OHRERG) | wgg) 10%
m pHE(4)
= 2503) 2UH2) 0%
m £20H2)
= D) REPH1) S 2ol 0%
8. to= o] == 1Hof A% HolsiAsUO
o2 0HE(5) 60%
pHE4) 20%
HE(3) 20%
HoH2) 0%



0 $-28H1)

0%

= D 22HE(5)
= PHE(4)
5 2E(3)
u 28H2)
u 0| 2251
ZIEte|A
S F0| =
4.5 =
4
35 >
3 —\\_ o
2.5 =X
: \
1.5....,__,- S - .__\. N— A —
1
0.5 e ==
D_.,__,{;_... an é :- .‘\ " Q -
efcr“’ @,&" lep“’ o
) ) ) A




